EARAZROREIERT — 2 N—XBISY —F 201958180 () 4@E1A&E1H

PRl 3258 C1 H5R4L ESRE R
[AE4£] 1% :280,000 M ~ 23%&:84,000”  33%&:28,000M”  43%&:17,000 ™ .~ 57 :11,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
.= meE% :29. 02— . — FEBT (£8)
algl vy k325 46 e 1(2_9)7 2-2-2-1 | 37.0 2 (4_5;1) B8 LAl "
X THANAN B:4F1H T HiE
o= & AllER :29. -3-4- . — FEBF (£8)
1 > RS AL, H6 8o [ IR b P e
L:hTY /K47 B:IZXv—vL—FK b 7 U o
2 S i 4 | AER—E 1:30.3 3-5-3-4 |37.4| — 1 412 | NIIEZEEF (1E8)
31811 I ANIb 54.0 (3) (-2) /AR
L:ANXZATNG B LTFs—AQv I T74—FK =R E%E
. SR BERM : —6-6- — HEXE (£8)
4 6| IR LA i 4 ' (11.310/.5 5-6-6-5 | 37.5 5 122)7 su%gx
L:O-JXM214 B:¥xyXFTRZIT Fxapes]
= P IL A - B 4 | REEZ 1:30.8 7-7-5-6 | 37.7| — 3 399 | FIWEFH (EH)
5(8[10| 7T TLTNT v 5.0 (1 1/8) L |TEER
RANZRTNYG B Fy FOY— 24 A1 Hit
3 A —O— 4 5 | Al 1:30.8 1-1-1-3 [88.1| — 8 | 486 |EBTE (1£H)
655 ¥I%7 /-0 56.0 (743) (o) | EW=D
RHIR T4 TR BEH I RZ—% i #k
L < 4 6 | EABRE 1:31.3 6-4-7-7 | 38.1| — 4 455 | FIUERE (£5)
71111 ZrraT4 v 54.0 (2 1/2) (-3) (F=1) JPN;W}
T H L TNEry b B L— b Y — AT gk
P RS # 5 | BHEA 1:31.3 8-9-9-8 |37.5| — 9 489 | LLUE (1£%E)
gl7lg|EybTv T 56.0 (5 E) (-p) |REET
R:TZyTRAK B —EAF— IS
. PETIN HH :31. -11-10- . — IHRZEA (1£8)
9 7lary—Fr Ty B4 o= 1(13/12>4 11-11-10-10| 37.2 7 (ztj;) wEEs i
R:7yviIs—L B:INTUxO BEMEE
S 4 4 | EPHE 1:31.6 10-8-8-9 [38.1| — 11 5025 | LUEET (1£%)
10 3| F—7erOy > 56.0 (1 1/8) Loy | ) &
LN—ErTv— B:A—TkeNIN=7 =Y Ty—LA
— e . HKFRA : -10-11- — AEE (£8)
11 4RSS AE-X 48 ﬁgs_o 1.(372>.9 9-10-11-11 | 38.6 10 <4+613) pEs "
R:F4—TA4>N7 b B:eERn &R milll 1EZE
® I —F—@EBIERL
13—F— 5,8,11,2,6,1,10,9,4,3,7
2ol=7r= 5,8,2,1,11,6,10,3,9,4,7
30—F+— 5,8,11,2,10,6,1,3,9,7,4
43—F— 8,2,5,11,6,10,1,9,3,7,4
[ N3
B OB 8 300/ 714K 2-8 850 % E 2-7 2,540H 3EHE 2-8-11 1,690
8 B 8 130M 8-11 240/ B & 2-8 2,990 K31 8-2-11 14,490M
2 1309 2-11 560 B H 8-2 4,590
11 120MH

ABICOVWTRDTEEERROODE. TR LIV,



